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A= =2x2 S oI= R
M AU LSME U
el LRdasy 8 LosNEy =4 (CHe: =)
4. 2A - BH . SA(S) - ARAY - BES 0l &t i HIDEZ
= 22,899,384
301 LetEN= 789,617,329 0 789,617,329
= 766,717,945
& 22,899,384
01 A EEHLHS (2 REXTHR) 789,617,329 0 789,617,329
OPJESUI=INI=) 789,617,329
= 766,717,945
= 22,899,384
=g X2 19,968 25,370 ADb,402
301 LEHEXS 19,968 0 19,968
02 MBI 2EHSFHS(FHAANS, KNLHH) 19,968 0 19,968
o¥=++g XN& 19,968
d=d =29 243 N2 3,145,674 3,975,048 A829,374
308 AXIEHMSOIE 3,145,674 2,335,548 810,126
01 HXHHBExS 3,145,674 2,335,548 810,126
oZzg 2gHl XA 2,934,3%6
OZ2E =328 22|k K& 211,278
Z2Y W - uEid] & 22| XR(2 D) 4,583,609 4,377,537 206,072
= 3,525,843
S 1,057,766
308 AFXIEHMSOIE 4,583,609 4,377,537 206,072
= 3,525,843
= 1,057,766
01 MXHHBaEx= 4,583,609 4,377,537 206,072
odzg d - el & &=l A 4,583,609
= 3,525,843
& 1,057,766
d2Y Z9XHH 2gXJ(=1) 295,008 291,99 3,012
= 147,504
= 147,504
307 E12tol ™ 295,008 291,99 3,012
= 147,504
S 147,504
10 Al SXAEEE2EHI2x 295,008 291,996 3,012
odzg ZYXAHE 2N 295,008
= 147,504
= 147,504
COISHH oY & =8 o8y 25 32,308,755 27,843,907 4,464,848
= 741,540
= 26,827,440
= 4,739,775
Lol EESAUIA KR (=1) 26,959,591 23,034,369 3,925,222
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A= =2x2 S oI= R
Hu: AU LSME U
ol oSl oY S8 oMY A5 (CHe: =)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
[ 24,797,990
= 2,161,601
307 212t01& 150,100 142,382 7,718
[ 105,068
= 45,032
10 Al S XA EEE 202X 150,100 142,382 7,718
OLQIXESSMEIA HEDJIZ XA 150,100
= 105,068
& 45,032
308 NHRIEHMISOIH 26,809,491 22,891,987 3,917,504
[ 24,692,922
= 2,116,569
01 HXHHBSEx= 26,809,491 22,891,987 3,917,504
ool s==sAllL 238 26,809,491
s 24,692,922
= 2,116,569
SSAHIA SALL 2S2X & AR 892,740 835,960 56,780
307 el2to| & 5,880 8,400 A2,520
11 MEISXAMEEE 5,880 8,400 N\2,520
O=sANHIA SALL HF WS 5,880
308 AXIHHISOIA 841,860 817,560 24,300
01 MXHHBSExS 841,860 817,560 24,300
O=SABIA SAL 2SEX 841,860
403 MXIEMSAH=201H 45,000 10,000 35,000
01 AXISHHA=2EE 45,000 10,000 35,000
SANHIA D12 D522 45,000
SHEQ Z0He! SSUHHMMHIA 2SR (Z1) 2,460,049 2,452,876 7,173
= 2,029,450
& 430,59
307 elztold 61,778 58,928 2,850
= 30,889
[ 30,889
10 AlRISXIAEEE2HI2 X 61,778 58,928 2,850
OSAHE Mool SSAAMBIA HEI 2
A& 61,778
[ 30,889
= 30,889
308 XXM SOIA 2,398,271 2,393,948 4,323
= 1,998,561
= 399,710
01 AXHHBExS 2,398,271 2,393,948 4,323
OSAHLl Hfe SsaAdA =29 2,398,271
= 1,998,561
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A= =N= A eI=EIn
M AUE LEME PE
ol oSl oY S8 oMY A5 (CHe: =)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
| = 399,710
NAoESME |2 2LXA(=21) 1,245,640 1,195,700 49,940
= 622,820
= 622,820
307 2120l & 1,245,640 1,195,700 49,940
= 622,820
= 622,820
10 AlRIS XA EEE2EHI2X 1,245,640 1,195,700 49,940
OLEsdEEI 2 28X 1,245,640
= 622,820
S 622,820
SIS =N EHEH 2SN (F2) 237,440 245,222 AT,782
= 118,720
[ 118,720
307 elztol e 237,440 245,222 NT,782
= 118,720
= 118,720
10 Al SXA2EE2EHIE2x 237,440 245,222 NT,782
ostilli = dESHEHH 2SI 237,440
= 118,720
= 118,720
S(F)NZHE 28X 50,940 50,940 0
307 212+01 50,940 50,940
11 MEISXIAMEEE 50,940 50,940
OF(F)NBHH 24X 50,940
ARIS XD SAAF XML 34,560 34,560
307 elztold 9,000 9,000
11 MeISXAIEE 9,000 9,000
OF LoSEXDI2 SAHL XA 9,000
308 XXM SOIE 25,560 25,560
01 XN B EXS 25,560 25,560
OAlZ =S D2 SAK XA 25,560
o2 HIASHAHA 2 XS 377,7% 0 377,7%
201 Zer=2a| 15,000 15,000
01 At2tclbl 15,000 15,000
oz SN A 28 XH 15,000
308 AHRIEFMISOIE 362,79 362,79
01 HAHHBSExS 362,79% 362,79%
o024 gASH!AEIA 2F XS 362,79%
LOIESEEIIE JISEY NH 50,000 0 50,000
402 212+ X+=201& 50,000 50,000
01 IA X 2AILEER (XM ) 50,000 50,000
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a2 =313 A =X
M AU LEME PIF
CHel OISH (Y X S8 XY Ud CEEIEED
AR 24 ZH . G9(E) - KIRAY - B S Ofl ko i HIRE
|| owaesz=lz sz 12 50,000
Col=XAL 2 o #E X 54,270,954 50,649,773 3,621,181
2 55,000
= 2,501,331
= 51,714,623
=oI=XAE 2 7,017,410 1,964,860 5,062,550
307 21201 59,040 65, 160 26,120
11 ARBISRIAI 2 59,040 65, 160 26,120
OF LSTAIM BAX =X+ 59,040
308 XIXISHHISOIH 2,539,440 1,799,700 739,740
01 AXISHHBLEES 2,539,440 1,799,700 739,740
OANIZ LYUSTIAIL EANX =X4E 2,539,440
408 XXISHAIS RH20I & 4,418,990 100,000 4,318,930
01 XIXISHHINH =22 % 4,418,980 100,000 4,318,930
O=210JI=TAIL JIs2 4,418,930
AZAIE 2| X (HBAY) 3,309,094 2,717,980 591,114
308 XHXIEHHI SO 3,309,004 2,717,980 591,114
IPCERENEE S 3,309,094 2,717,980 591,114
OLRAIL 2H| X (HE) 3,309,094
Lolo| 22X AIL 2HXE 40,192,116 41,757,701 A1,566,586
308 XHXIEHHISOIH 40,145,116 41,717,701 A1,572,586
PG ENENEESS 40,145,116 41,717,701 A1,572,585
0JIZ4+3X S WIILYRE 30| N 40,145,116
408 RXISHHISRH=0IE 47,000 40,000 7,000
01 XIXISHRIN =2 % 47,000 40,000 7,000
OLRANL JIs2Y 47,000
Wk =TAE 2SI 23,000 0 23,000
408 XXISHAIS KH=0I & 23,000 23,000
01 XIXISHHIRH =2 % 23,000 23,000
OMIH=QISTIAIL JIS2Y 23,000
COIQUNLEAE(IISEY) AR(2D) 2,574,8% 3,994,082 A1,419,176
2 2,008,691
= 571,165
408 THXI RIS KH20I & 2,574,856 3,994,082 A1,419,176
= 2,008,691
= 571,165
01 XIXISHHINH =2 % 2,574,856 3,994,082 A1,419,176
LoIRYAE HEOISEY) 714,063
= 420,087
= 294,026
OLQIRUAL SE(XNHLE) 1,860,793
2 1,583,654
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A= =2x2 S oI= R
M AAUS LSME PE
ciel: Lol=XAM 29 U 2E X (ol me)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
| = 277,139
) QULAXAME 2IXA(=2) 110,000 200,000 290,000
= 55,000
& 55,000
308 AXISHMSOI& 110,000 0 110,000
= 55,000
& 55,000
11 SIS 3 & E 2 AL 110,000 0 110,000
OZAT AIQURLAXIHME 2RI 110,000
= 55,000
= 55,000
INQALIAXNALE 435t X (XHA) 191,490 191,490
308 AXIHMSOI& 191,490 191,490
11 SI2SICHEHE & B E AL 191,490 191,490
OZAET FILQARAXIAMEYH 43t N 191,490
LOISXIAIE AASIH HEHH 2 7,000 7,000 0
201 L2 | 2,800 2,800
03 SAHZ G H| 2,800 2,800
OANE3H HEHH 2 2,800
301 LetENZ 4,200 4,200
11 AL HIXIA S 4,200 4,200
OAlIZ3| ] HEHE 29 4,200
QDI CCTV XA (31) 845,983 0 845,983
s 497,640
o= 348,348
403 XXM S KH=201H 845,988 0 845,988
s 497,640
& 348,348
01 AIXSHHA=2E L 845,988 0 845,988
OLQIEIQYI|Z CCTV XI& At 845,988
s 497,640
= 348,348
HE BAZE =8 L AL &S 4,144,040 3,129,600 1,014,440
s 3,366,000
= 778,040
=8 ZAAE Ex1(=1) 4,087,350 3,129,600 957,750
s 3,366,000
o= 721,350
403 XXM SKH=201H 4,087,350 3,129,600 957,750
s 3,366,000
& 721,350
01 AIXHHA=2E L 4,087,350 3,129,600 957,750
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A= =2x2 S oI= R
M AU LSME U
el d& HALZSH 24 2 AIE &5 (S M)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
OFT AN &F 4,087,350
s 3,366,000
< 721,350
HMIBXE ZAAE == HE =¥ 56,690 0 56,690
207 AN 56,690 56,690
01 H1=9H| 56,690 56,690
ORMI3Xt ZAAE =5 HE =8 =29 56,690
HE2agXiel 3 o HE 123,626,430 126,180,828 A2,554,398
= 98,367,286
| 5,290,000
& 19,969, 144
Lol Re| sl ASEH 116,912,814 120,131,796 A3,218,982
= 98,367,286
& 18,545,528
Lolgdiel & AlslEs K& (=21) 116,867,485 120,131,796 A3,264,311
= 98,352,873
= 18,514,612
308 RtXISHMSO0IH 116,867,485 120,131,796 A3,264,311
= 98,352,873
< 18,514,612
01 AXSHHBAEES 116,867,485 120,131,796 A3,264,311
o2 MLR2IAIE =& 111,087,671
= 92,573,059
< 18,514,612
o248 XtelAtE Mgols X 5,779,814
= 5,779,814
Lolgdriel 2 ASES KA (20)(HE) 45,329 0 45,329
= 14,413
= 30,916
101 2124 b| 45,329 0 45,329
= 14,413
= 30,916
03 BRA(RIAHL) 22X B4 45,329 0 45,329
o2 XtelAtE Mgoled HiXI 45,329
OP == 28,641
= 9,141
== 19,500
(OFS It at=y 2,387
= 755
= 1,632
OZEEFIHI 2,865
= 908
< 1,957
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A= =32 S oI= R
M ol2AUNE B U HE
Bl selgiiel 3E) ASEH (EEREED
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
O=zaldl 1,680
= 529
& 1,151
OnE| 1,200
= 376
= 824
OBz 480
= 145
& 335
OgZ - 0F2t - F22E 4,380
= 1,393
= 2,987
(Ol =W Sy 1,296
= 406
= 890
OO0l 2,400
= 760
& 1,640
100MIAICH, HE AL RI2IALS 6,713,616 6,049,032 664,584
| 5,290,000
= 1,423,616
HE AL ReIALS F& 35,070 6,300 28,770
201 Ler23A| 12,070 6,300 5,770
01 At22telt| 4,200 6,300 A2,100
O LXeIAtY =& 4,200
03 EAHZZGH| 7,870 0 7,870
O A LXtelAtE O3S 7,870
202 044l 3,000 3,000
01 =WO4HI 3,000 3,000
oz adXtelAtE =& 3,000
303 L&z 20,000 20,000
01 Zat= 20,000 20,000
OUZMLX2IAE EOLHE! 20,000
(SUES)I00MAILH HEAMLXIEI(Z10) 5,290,000 4,551,000 739,000
| 5,290,000
308 AtXISHMSO0IH 5,290,000 4,551,000 739,000
| 5,290,000
01 AXSHBLEES 5,290,000 4,551,000 739,000
O3Uss H=adRelAmY F8 5,290,000
| 5,290,000
(FILE)I00MAILH 2L} 57,073 55,766 1,307
307 2I2+01 ™ 36,673 34,166 2,507
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= FA= FA e

X XH - O.IE/\|%II.E| XNZH QI Xt=

o= _= o= == o=

CHPl: 100MIAITH, OIEAIZXICIALS

U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
11 MEISXAMEEE 36,673 0 36,673
OF U H=aLTelAE =8 36,673
308 KHXIEMISO0IE 20,400 21,600 1,200
01 AXHHBSELS 20,400 21,600 1,200
OFYE o=adelAg =d 20,400
(QIEIE ) 100AIAICH Ol2 Al Riel 891,473 885,966 5,507
307 @120l & 891,473 885,966 5,507
11 MEISXAEEE 891,473 0 891,473
OCIEE A X2AME =& 891,473
(SSHE)100AIAI 28 X}2 210,000 400,000 190,000
308 XX HMSO0IA 210,000 400,000 190,000
01 XN B EEXS 210,000 400,000 190,000
S3te o2 LAelArg =& 210,000
AMUNEE JIsE22 K& 30,000 30,000
403 X EHMSXH=0lH 30,000 30,000
01 XX E 2 & 30,000 30,000
OAILINZE JIs:2d X 30,000
2dEE S50y £X 200,000 150,000 50,000
403 AXIEMSA=201H 200,000 150,000 50,000
01 MXIHHAZE X 200,000 150,000 50,000
OZYE S30I=eie &X 200,000
X2 ABIEN K& 2,051,685 2,289,275 A237,590
[ 671,206
[ 1,380,480
ASE ARIAHIA 2T 2,051,685 2,289,275 A237,590
[ 671,206
= 1,380,480
Ay ZaEgEanel NF(=1) 1,342,410 1,480,000 137,590
[ 671,205
= 671,206
307 @120l & 1,342,410 1,480,000 137,590
= 671,205
S 671,206
11 MEISXIAMEEE 1,342,410 0 1,342,410
ovlsd FdHgd el A2 1,342,410
= 671,206
& 671,205
AEE AZ|SEES K (HEAY) 609,275 609,275 0
307 2I2t01 & 609,275 609,275 0
1 MEISXAEEER 609,275 0 609,275
OtlsE AMalBsgs X (M) 609,275
AEsE WHE Satu= 100,000 200,000 100,000
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A= =N= A eI=EIn
g ERMIUH AIEH AEH
el AEE ASIAPIA S (S M)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
308 FAIEHMISOIE 100,000 200,000 100,000
11 S [2S0 U3 4R AS A 100,000 200,000 /100,000
odlsd MHY Satus 100,000
AH2LIH(A=T D) 31,282 75,665 A44,383
=3l 31,282 31,863 581
FNE2E JI=3HI 31,282 31,863 A581
201 &gr=2E| 22,449 22,449 0
01 AtR2t2ldl 22,449 22,449 0
A2 AR2teld] 22,449
202 O 5,233 5,814 581
01 2UHOIHI 5,233 5,814 N\581
FA2E U0 5,233
203 @R =8| 3,600 3,600
M A=Y R 3,600 3,600
©20¢! olat 300,000 12 3,600
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